A STORY OF FUNCTIONS Lesson b

ALGEBRA !

Lesson 6: Modeling a Context from Data

Classwork

Opening Exercise

Identify the type of function that each table B
~  appears to represent {e.g., quadratic, linear, e .
exponential, square root). Y
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@ Find the symbolic representation of the function. bt o s
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d. Plotthe graphs of your data.
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Exercises

Lesson 6

ALGEBRA !

@ Bella is a BMX bike racer and wants to identify the relationship between her bike’s weight and the height of jumps (a
category she gets judged on when racing). On a practice course, she tests out 7 bike models with different weights

and comes up with the following data.

20 8.9
21 8.82

22 8.74

23 8.66

24 8.58

25 85 -

26 g4z i
27 834

Bella is sponsored by Twilight Bikes and must ride a 32 b bike. What can she expect her jump height to be?
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Bella asks the bike engineers at Twilight to make the hghtest bike possible. They teli her the Ilghtest functional

bike they could make is 10 1b. Based on this data, what is the highest she should expect to jump if she only
uses Twilight bikes?

@ What is the maximum weight of a bike if Bella’s jumps have to be at least 2 ft high during a race?
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@ The concentration of medicine in a patient’s biood as time passes is recorded in the table below,

A

patient remain inactive? What are the limitations of your model{s)?
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What is the highest concentration of medicine in the patient’s blood? .-
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